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QUESTION 1

How can an administrator make a commonly used development environment available for end-users to deploy?
A. Use vCenter Server templates to deploy the virtual machines needed for the service.

B. Use the Service Catalog to publish the virtual machines needed for the service.

C. Use the vCloud Connector to deploy the virtual machines needed for the service.

D. Use vRealize Application Services to deploy the virtual machines needed for the service.

Correct Answer: B

QUESTION 2

Where can User Interaction input be provided for a vRealize Orchestrator workflow?
A. Inbox > Manual User Action

B. Inbox > Resource Actions

C. Requests > Manual User Action

D. Requests > Resource Actions

Correct Answer: A

QUESTION 3

An administrator is configuring a DHCP Group within a Private Network Profile. The administrator cannot complete the
configuration due to an error.

What is the most likely reason?

A. The DHCP subnet range has not been applied to a DHCP Group
B. The DHCP subnet range is duplicated in another DHCP Group
C. The DHCP range does not fall into the static IP addresses range
D. The DHCP range overlaps the range of static IP addresses

Correct Answer: D

QUESTION 4

An administrator wants a FlexClone machine blueprint to deploy only on FlexClone storage.
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What is the best method to meet the requirements?

A. Create a Reservation Policy, and assign the Reservation Policy to the blueprint and storage for FlexClone machine
deployments.

B. Create a business group specifically for FlexClone machine deployments and assign the FlexClone reservation to the
business group.

C. Create a tenant specifically for FlexClone machine deployments and assign the FlexClone reservation to the tenant.

D. Create a Reservation Policy, assign the blueprint and storage for FlexClone machine deployments to the Reservation
Policy.

Correct Answer: A

QUESTION 5

An administrator needs to account for the daily cost of operating a virtual machine as well as the cost of the software
deployed on the virtual machine.

What action should the administrator take in vRealize Automation to provide the needed information?
A. Assign a Blueprint Cost to the virtual machine blueprint.

B. Assign a vRealize Business Operation Cost to the virtual machine blueprint.

C. Assign a Daily Compute Cost to the virtual machine blueprint.

D. Assign a vRealize Business Usage Cost to the virtual machine blueprint.

Correct Answer: A

2V0-631 VCE Dumps 2V0-631 Practice Test 2V0-631 Braindumps

2V0-631 VCE Dumps | 2V0-631 Practice Test | 2V0-631 Braindumps 3/3


https://www.passapply.com/2v0-631.html
https://www.passapply.com/2v0-631.html
https://www.passapply.com/2v0-631.html
http://www.tcpdf.org
https://www.passapply.com/2v0-631.html
https://www.passapply.com/2v0-631.html
https://www.passapply.com/2v0-631.html

